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TEST OF REASONING & =_M_ENTAL ABILITY_

; {How”many & s are there oceeded

Arrange the words glven below'] :Ja




.?6. ABC DE FGHEJ KL'M?N OE’.Q R |
STUVWXYZ .
Whlch letter’in thls a!phabet fs the

" ‘-;8.

3?‘12 S

it e
1t of the fetter and

AV\

EIRTRY ?” ik :‘ U

o folfowmg étatements cannot be

def‘ mte!y true 2"

-(A)

(8)
“(Q)

©)

- Nol 0

W Q‘ . i
;.‘Tls stather TR
;S i P's mother
Pi is S’s son '

*Q is T’s son .

E IS

- (A) K Mother‘s s"t'sit"e’r

(A) A ST

1.

(B) Grandmother” N

and F C as the s:ster of‘fF B IS the
brotherofE's husband Dlsihefaiher 3
ofA and grandfather‘of F There are

two fathers three brothers and a

" mother in the group. Who 1s ihe

mother ?

A is B 'S s:ster C is 8 s mother D is
C s father Ei iS D's mothereThen how
lsAreEated to D 2

: -z_iziz'-s . (fi_j:?:' '

(A) Grandfather
RO e
(B) Grandmother

(C) Daughter . )‘_.H,,,. . A
(D) Gfanddaughter 4 i‘ﬁf | f;

| T;Tdrﬁ*{iﬁ&’e’r‘;)}i!-ﬁ

.




12 ”Awoman tntroduées a man as thei-:; (0) 299 i i;}"??’i-" m DR D

A w U

Eson_offh?b""‘hemw "‘?°‘“ef How . -(D) 999

: ’i’ “u‘f‘ :

16” Two bus tlckets from crtyAto 8 and ‘

;i; L 7:;5.! E{

three ttcket ,r m city, A to C cost |

3 ;}5;§'e$ FANEY ;‘"W“-

Rs,,]'(’ butth gket$ from mtyAto '

e B and two ttckets from caty’A"to c
,;;U qcie to Grand

gs 31 “-:_;- k R a ‘. gl 'ir.=’ v

' cost Rs 73 What are the fares for

ctttes B and Q from A ?

| (A) Rs. 4 Rs:23 7, P

(B)___R%JS Rs':. 7 7

(C) Rs 15, Rs 14

,;_(D,)‘ . Rs._}?,’.R_:s. ;13 BN

435, 5, 19, 7,41, 9 7 SN

t (A) 71 B L it iﬁ;’ e '§ --5,‘} u;}‘ i,e 35} £
T e pctureandfamt'

z'_,(&),;-ggﬁﬁ‘-..;-é: FER A ,':;" SIS
T Whlch of the foliowmg d[gnts stands
35(0) 79 girh ".}gw i niuf
L for see ? o
D) 69 | l RS

"1,'5. 1, 2, 3,10, ? 9802

a H-;l! §-§

L e

(A) 99

i3

R IE A

) ; .. o (C) 1
(B) 199 L

Ly (D) 8

CONGwARO  ~(,4-)?? L ’“MG@“td“‘ff




1 8. 583 iS related to 293 :nthe same\Nay

o as. 488 is re!ated to RAT

L (A) 201
- (3) :
o (C) 487

(D) 581

Sam rar;ked ch from the top and 38(h

U f T ii

19,
L -from the bottom :n a class How many

students are there |n the c!ass ?

21"‘(
o !.’COMPUTER s
RFUVQNPC Howw;!l MEDECINE be

Co AR TR
< written mihatcode Ianguage'?
) i P sy .
St »5 i '; HLE e .

:(A) MFEDJJOE

wr;ttep i

‘E* ;

NC foAfzo

22

in a certam code §anghage

'(B) EOJDEJFM

" -f(o) MFEJDJOE o

‘_('D) EGJDJEFM

If ROSE is coded as 6821 CHAIR

- is coded as 73456 and PREACH s

el

-f=.7 ngst: g n";, *.::a;‘——*-

. South . R {'::fiijff';;;';é*?' .

. Datais inadequate”. 7

- (Tumover)"”




24, Findthe oddoneout: i

o (B)" | --cambaig*n‘ fm

| '((}) Exped:t[on a

** A S I P 2O 2 BN
E.‘e- EAF T SRR RN A

(D) Cru1se i
’5‘.5 § : fn NN -i';.‘%@*i?“"’f' PR thin
25

,5_5

wﬂh the tenth leﬁerand so‘on whlch

Ietterwould come after the leﬁerT in } |

the newly formed ward?

'(A) S

ifmtheword‘D!ST BANCE' the;_'f-' .

s’,(B)‘54{,O“,sf= B :a'x’ 735

(C) 108 rolls! 1= - oo s H 4

o (D) 1207olls

| 27. Fmd the number of tnang|es m the

| gsvenﬂgure o

NG
©
o

I

'_28 Observe the dots on a dice (one to sax

.': i\-'

26 A tazlor had a numb r_of shirt pteces |

to cut from a roli of fabnc He cut each

J rollof equaE length mto 10 pleces He -

BT r ’\L

R cut at the rate of 45 cuts a minute :

How many rolls wou!d be cut m 24 -, |

.minu’_tesl?._ S T ) S

| NC"*2A/20 .

BGCE

(D) Cannot be detérmlned

RIRESS

B ‘\‘




29'.‘ A pi_ctu_re is-i:opied c_:rftd éfghéet pf :

§‘xﬁ

paper8 5 mches by10 mches A‘I 5 .

Tlsit v;‘
PETRE ,r,, Viper

(D) 38 5

? i "" 5,, "Z

TR f%l ‘}

5

"?chmafgm i_%-!%ftaﬂ; aagu,nﬁ- Wb@t—

area in’ square inches does the

| '\ Toiias
LE AN

w 125

(B) 13&4

g NC 2A/20

31, T

5

(C) 2&*" S

SRR O '-@wsﬁﬁé S

(D) 2, 3&4

(T over)

“x )




33.°

'34

< NG=2A/20

rmm'

%mmm&mmew&wa& ¢wL‘wg-ijlﬁf;m
X q J - o ;' "a(B), 2u 3 fi_\? B _’ i 51 L oo

lines. requrred to make the glven =5

ki

f gure

m)w'

Count the number of trlangles and
squares ln the gtven f‘ igure . '
IR ‘-s;‘p C{n

N

(A)& 36 Tnangles 7 Squares

(B) 38 Trlang!es QSquafesi P

(C) 40 Tnangtes, 7 Squares .

(D) v42 Tnangles. QSquares:- =

s

h__woutd most ‘

m)a
(D) 4

36 A cflce |s numbered from 1 to 6in

dlfferent ways If! 7 |siopp031te to 5

and 2ls oppcsrte 03, then
(A 4i is adjacent’ {6 3 and 6 |
| "(B). 2 is adjacent to4 and 6' 1 '
| (C) 4is ad;acenttOSancE 6 o
y (D) Gis. ad;acent to 3 and 4 s

\

| 3? A cube is pamted bEue on two,

adjacent surfaces and black on the '
sun’aces cpposrte to blue surfaces
and green on the remaimng faces

mye~

. ; M ,’:. 2
E‘ ‘: DR TR T B

| 38 How many pa:rs of Ie&ers are th re

ln the word “QASTRAPHON Efiwhrch o
have as mény letters betweeh thern a

o mtheword as in the a[phabet‘?




39 Howgnany mear}mgful Engllsh words

SOV RO

1fij}'-

®

- ‘_j::_" (C) 26::'."'_:
j*;;m) e

@G ahd (4): Chooss the

NCH2A20

a combmahon

“canbe formed wath the letters ESRO
usiﬁggaeach letfer hly s in each
word ? - : - e Ywg T

One
Two‘ CeaT

(D) _Three ~'_f‘-.‘%’3-

40, 341 related o 12;in the éafne way

' ‘as 59 iS re!ated tﬁ ‘\
;._(A) 45;
®) 38

i2) : AFOMA;{A‘M o L
(3) ‘A?GPNA&AIM o
x(4) ; .;AmrwlAﬂAT

4"_3- 1965INDOPAK {\ y
(1) }{ACIOGV!IEQGP

Whatlsthenumberofmanglesﬂwatcan_ RN

be formed whose vertrces are the.‘ R

kil

e altemat:ve

F3

-wh:qh closely resembies fhe mmor image ‘
of the g.'ven combmatzon e i‘

o ‘42 TARA¥N10'¥4A

( 3:
. AmrmAw o

e

aRY
A o

, (.i[(z) MA .iAY A_IAM
@ wrrvivrow

) (4) WV'—AV‘A!_AM
o Ao B s

- o(Tumover)




45. SUPERVISG)R?*H ks

) ﬂoatvaaque

.

%,

| *(2)’*8(1658/\!808

RE) Beonbaém/\

-

@ aﬂbEH/\IOBB
(A) 1

J‘I(B) 2

i_, \U

49

46,

@ 330, . - "

@20
Do

‘ F;nd the mifror tmage when he exact

v A RAAN ui#'i

tlme showq _m a ctock was 6 07

(D) 8:53. g\
48 Inarow of boys‘ if A who'is 10th
"+ from the left and B who i$ 9th frém

the r;ght interchanges thelr

-

NG a0 oy

SR ,;i ._._"

@ 23 U
® 31
(©) 27

( ) ‘éi

word

.‘5!§?z RS

A bécomes 15fth ffom the
sl A s T a0 i

How, many} boys_qare there in the .

!eft

row'?

If Z=52 and ACT

be equai to:

(A) 139 s e

lf the flrst and second Ietters in ther

DEPRESSION“” were .

fmterchanged a{sothe thlrd and the o

- «;fourth letters the fiﬂh and the Sixth L

Ietters and so on which of the
: 4; z.iig‘:ifj ';,.:: .):, o
[ g wouid be the seventh !etter ;

ERATRLE ‘%‘a n“ku SEE hs




? 54' ‘?0" 04 x 0 0162 :é equal to

o .-'j(A) 6 48 X, 10“3
° / .-'() 648x10“
| “'r(c) 648x10'4 "

."f_""_,i'-;';(D) 64BX10" o

: ".'-_55;‘,'_'(489f 375),;(489 375)
AR A9 X376

nu 'ber ef ﬂve dlgtts 1s' VY

exact:ydmsmie by41 ?,. S

(A) 10045

(B) 10004*'-.7;'7 o

Sl
e o il

g Two numbers are respectweiy 20%‘15_ ;

e Thesetwonumbersare inthe atio:
| ( a w0 o e

S 'Land 50% more than athu’d number S

. ;)} NC3 2N20 , .. l: | ’. . : ‘(11) : l‘ 4 | - . }(TU[nover ) Lt




o . 59, ;_-‘-100 oranges are bought at the rate : |

58 Afruit seler had somea Bles:

- Originally hé had ;-

R Z(_D) ;’Rs;so R
' o8t -A andBcan doawork 1n8ctays B,'

(B) 600apples - — AN
PR e and C can do the same work in"‘ e

-~ “.\_ P

o T(C) 672apples SR
AR S 12 days A B and C together can'__';: -

: of Rs 350 and sold}at'(the }rate' of

' ‘-'-"L?Rs 48 per dozen The percentage of

A ",_"f-,'prof t or Ioss s

S

Lo ,'annumis

BN R.s;.-z,e‘,,;




8 (64)2 3\/3276 ? __-"-'--}.eé;ff'\?\"lzhé:di%'s'i‘éﬁ Skie ds dw:ded by

s ;‘i._(A) 128




h=?j.

- ”69

x+3y y
'7‘—x 4

3l 1then ffﬁé-
0 4 e

! j'i

a' B r, -
P T '-“-x’-' W5 o= «_\‘.L_\s 1 ,7_ 5 e 3T
| PREESC IR 011 ve :.{\-'

%1? values of X and y are

R R AN

_. 7’ __’ 1 RS

TR '-’:.._‘;: vy e

NG+-2A/20 o

For whrch value of p, the palr of
equateons4x+py+8 0 x+y+1 0

14 i

has not umque solutlon

un 4

oy [T DR T LT P e,
3Y (B) . 2 PRI O B pERE Ny T LA ;
- AR S T P H _

» B . i - 1 s
TR C G e e T e S .

';1(e)JSj;;f*77‘!'[

72 The discrimmant of the quardratlc

equaﬂoan 4x+3 OIS SIao

R | el SRR -,:;—-‘--*;fi)mconmstent ;
(D) Noneofthese L ,: o |

(A) The palf'of |;n'_f_areqqations '5.'1.:

T
o
f“r‘"

conszstent

5 The palrofhnear equations ie'- ;

(C) The palr of Ilnear equattons is .
a andependent B

(D) The patrof lmear equaiions s

XU .

dependent




’?4} ln anA P the ?:fh and Blh térms are

2 i ol e m i‘ “& oF Dabha

11 and 17 respectsveiy The 15th ten'n
/i b ,j:

(B) 41'

(C) 45:‘ g

" ..ﬁ;(o) AT

ri fan

75 Whrch of the 'fo!iowmg are rn

’ .1}5 E§ig,zj§ S,,-<

76 Tﬁe sum of three numbers mA P rs

. By |
Gt 36 and theirproductfé 1140 then one :

.é o
e

ofthe numberls if':s,f =

(B) 10 Gaidliin

L -;-iﬁf__“’?? bg, ,"r LT

ORI

! \

lsh‘i!,

programmers to handte'system

~: K ! _ _"f.r‘h.\ B

progra‘mming ;obs an& 30 -

z

programmers forf apphcatson K

programmmg Of those hlred 5are

expected to perform ;obs of bothl -

it gtypes Howmanyprogramm,ers must'

be hired ot

(A) 50;' : |
@ e a

(C) 35 el |
eI R

(Tumovar)




79 For an event tf p be the probabihty

L of the happenmg ofthe event and q-

i

be the probablhty of not happenmg

3

% *foliowsﬁg is true ? i1

f’ (A) 5!36 |

. a{% ’i f-

[ T

g :'%'1-81*?.6 Three coms are tossed Find the B

»probablhty of atl heédsm /
Cw W
o e ’

(NG 2820

: _(A)

(e

st number, whuch shquld Qe

ssiu“ 13& =5 f\%!

dqéc;;‘,_to ,'2(497’,;-;,9' that the $um is

T‘sfﬂ* I T

(A) 3

(B) 13

(D) 33

83, ,:ifa s_et has n,elem¢n1§ithe'n¢he_p‘_ower; |

set of that set has
hrﬂ ir}h\gi}s-ﬂ § k-i"i'_ ﬂi égs 5;1 i‘”‘i i,;“»

elements

84 Flnd the chance cf puckmg an even. _ |

i number from the senes of natural '

100' P

;;T%? fm‘m upis)

1 - 7;- . ‘;ﬁ:‘
(c) 2 81 *'-%ﬁ'-ﬂ}, :

(D) Noneofthese ot -{gfi:%'

im;zf siiiio

f}f"is’ % CODfd :

e




85,

“Anum contalns 3 thoroughiy m:xed e

- *‘"set of10 whtte 15 red and 25 black,’ R

B marbies Determme

B 's

of drawmg a whlte ora red marble -

. 1 3

gi‘.

| ‘:recast anto spheres of tad:us 3 5cm.

g _:-'So the number of spheres that can_

| ,,(A) 100 revo!utrons

NC 2A/20

. : glven by

8o,

e R niE
(D) 105 revolutions o

88 The area of the segment of a cwcfe
;f the angfe of the sector is, 120° and

-‘ the radsus of the cucie is 2‘% cm Es

;’-(C) 271 047 sq cm‘

o "_(D) %17 041 sq cmx
e ' w}; .
A smgle letter is se!ected at random

| *from the word PROBABIL!TY The

- probabsilty that itis a vowel 1s

o ._'_' {55
[ e o ;?
» 3 i _:;;

o A) B

((Turmover).




90. . A and B. are two events such that
P(A) 0.3 and P(Au B) 0 8. ifA

and B are iﬂdependent then

P(B) is:

B - FON K
I A TN AL R L AN I S B 1 1]

L
vt

s e _
91 . A bag contains 5 bI’OWn 'and 4 wh:te

f-@ | 5‘

.92 Two dlce are thrown snmultaneousiy

" The probabtlity of gethng a total score !

i Dol
LENATLY

socks Aman pulis outtwo socks The L
probabnhty that they are of the same R

'ﬁ_(.) Noneofthese

93 A bag contalns 8 red and 6 Etue ba!ls
. 1ts balls are drawn at ranc{em what _
B the probablllty that 3 aré red and 2:; '

?.(,‘ 2‘..13

' are blue?

(A

“© 141

E (D), 143.«

Wit Contd.




In a ciass of 100 students there arer;ﬁ '

7-70 boys whose average marks -

“ in a smgle subject are 75 h‘ the o

T average mark of the complete class’ :

s 72, then the : ave{age mark of the -

' 'fzz.y.girls LR

@
®
L ©
0.

-713
o5

-, 9.

| ]'themares 13 9, 17 14and10 the'-'

| Tth vanate is
i i '(A):
- (B)

16
7.

P

97 The medtan of the followmg " i :

dlstnbution IS

68

_’x"\ .
LI I

Wetght ln
nearest kg

"; r : 46 R

o4
50

52

E NC’?—NZO "

42

w

. 98,

Welgh_t in _

BRIE SRR ::;

nearesf kg

2 ;_‘-- R P

~No. of students| .

2

50
) 53
©
o

52
54

e ::'"!_fdistnbui[on 1s

!The sum of 7 vanates is 12 if 31x of ' ; .
o Marks obtamed

No of Students ‘ N

- (A)

. The mode of the fo!lowmg frequency '

* l(outit 10)

Noofstudents |

L

12

21

2

3
4
7.

9

10

| 21
()-8

o

(D) Noneofthese -

- (Tumover),,




9 o1 15,19, 17 18, 713 _
(20)




